8.1 h=69,7 km; 20170908; 04:49:21 UTC

Record starting time: 08:03:17

Event timing: 1 h 10 min

Trevel time: approx. 15 min
Gravity amplitude: over 1mgal 577 microgals

SW of Pipjijiapan, Mexico M

4 11850} 118501 118501
110262 \\ - Lk0ce I LLESOL LL'€S0L 216501
SR | ez I Lusvol L1870l 118701
i \ i ¢ L zievol LLEroL LLEr0L
LoviT FLHOrle L L1Ben) LL8E0L 118801
1110502 L 210602 I LLEEDL LLEE0L LLEE0L
L I LL8zol 118201 118201
1100102 % - LL000C L suezol LLEZ0L LLEZ0L
110161 M / - L0Vl F 2810 LL8L0L L1:8L0L
L10z:8L N~ / L JLoz8L [ Lkek LLELOL JLEL0L
- / AR ) /18001 /18001
LL0SLL % / L LL0eL) m. L ZLg00L % L1001 LL€00k
-] L0791 o / L LLOvoL [ 448580 218560 Py 218560
= ° [ L1E560 - LLES60 v LLEG60
N /10661 o L /106G m 4 L Jiove0 £ S ("] il
o o o t 118760 _u 118760
~ 11°00:G1 .W. - LL00GL m [ LhEve0 m LLEP60 ~ LLEVB0
S 210Kl > pIE R S o x LL8E%60 > 218260
ov.. 11:02E) mu_ 110ZE) ﬂ A_ I MM% = = = i
a7 L Ziioz 2 r4h-8ed = 218260 LT [ om 118260 T
- - o il I
b T T L ez o o
ﬂ 2082k & m \\ P oLoeT @ H ) MM%% 116260 mw 11E260 m
1 - 8l
O 8L 8L
-ﬂl_v C”ov”:_nlu -nnv \ L L0 m Mu L Jieie0 & 118160 _w 218160 _m
il = 51°7% st o 1L€L'60 1LELB0
S LL0g°0} W \ - LL0S0) 5 e L180'60 118060
© i \ ° 212060 i e
- 110001 () L /10001 = m. LS 11'€0%60 116060
LAY o b B 118580 118580
11°01:60 L /10160 (1) ot I LL:€580 d
— o ..We 180 M; L1€5°80 L1'€5'80
11:02:80 L 10z 3 = 4 o o
110280 = Aw B RHW t.mv.mo tva.S
L108:00 L L1080 BB = L J1se80 €T LEEE0 L1v80
o 59 i 118880 118680
O L JL0r0 9 i il
£ e / Av I L1820 . t”mmhwo t”mm”wo
W 11:05'0 = / L 000 = .Mh« L ez W 118280 = 118280
2 nws || 2 N\ g 2 L L naw [ 2 e - nez0
E = > / g L Jergo £ 3 18180 g 218180
2 L = / - 2L0LY0 g } o0 m LVELR0 = L1180
m 11:02°€0 g L Lz 2 < L /1c080 w DWSWB 7 twwowwo
2 110820 2 gies s I 2118520 s 11'€0'80 m 116090
& z [ 40820 2 L J1es0 = 118540 z 118540
A . & i e
= L1:07'10 m L /L0710 m L /1870 = 11650 m £1°€5:20
& 05" = = L Juevy ¥ g 118710 g 118740
b nosw |22 | Lwo ||Es o |l <28 . g2 i
Az s L 83 118810 oz LLEvL0 23 LLErL0
= == {00+ S fovngootnnootn 5] 8E- =3 1188/
ww 25 10000 e g 8 5 gé LV8E0 =% 8E20
e 8 8 8 R 8 Se £ 5
a0 b ;8838°938 ok kR EERERE R 8383883838 AS
/m m M %mc._m % m = S HONS GBI C) \ PON OB TENS %@
S| sjebw ) sjebw oJe oasw &




